KART MANUFACTURING i :/

PERFORMANCE MOTORSPORT LTD.

2009 Price List

Formula 1 Kart Manufacturing Co.
Performance Motorsport Ltd.
Unit 27D, Riverside Business Park, Blyth, Northumberland. NE24 5TG
Telephone: 0845 0743353




KART MANUFACTURING i :/

PERFORMANCE MOTORSPORT LTD.

CHASSIS

K1 Chassis (no paint) 125/ 250

K1b Chassis (no paint) Max / Pro
BUMPERS

K2 Front Bumper (125)

K2a Front Bumper Conversion

K2b Long Circuit Front Bumper

K2c Front Bumper Max / Pro

K2c Front Bumper Clamps (plastic)

K2d Front Bumper Clamps (alloy)

K2e Front Bumper Clips

K3b Rear Bumper 125/250cc

K3a Rear Bumper Max/Pro

K4 Short Circuit Nerf Bars

Kab Long Circuit Nerf Bars

A28 Front Bumper - rubber bushes

K5 Pod Support Bkt LH/RH
FRONT ASSEMBLIES

K22 Front Disc Carrier (alloy)

K12 LH/RH Stub

K12b LH/RH Stub

K13 Stub Shaft - up to 2004

K13a  Stub Shaft 2004 on

K18 Bearings

K18b  Bearings

K14 Locking Collar

K15 Keysteel 5mm x 6mm x 100mm

K16 25mm Hub

K16a  Studs M8 + 1.25mm

K17 Flange nut M8 + 1.25mm

K29 Camber bar 125/250

K29b  Camber bar (Max/Pro)

K25 Castor bar (state length when ordering)

K26 M10 Rod end

K27 M8 Rod end

B1 L/H M8 thin nut

B2 R/H M8 thin nut

K30 Track rod (state length when ordering)

Bb6a Alloy Steering Wheel Boss (angled)

K19 Bottom Ball Joint - heavy duty

B7 Bottom Ball Joint - nuts 5/8 UNF
STEERING

K9 Steering Wheel Suede

685.00
395.00

26.95
29.95
29.95
26.95
3.95
9.95
12.95
59.95
59.95
29.95
29.95
0.50
5.95

28.95
49.95
49.95
49.95
49.95
4.25
3.95
1.50
3.00
23.95
1.25
0.60
18.95
18.95
6.95
8.95

6.95
0.50
0.50
7.95
19.95
29.95
0.60

39.95

BODYWORK

F6 Full body kit 125cc

F7 Full body kit 250cc incl. brackets (less rad)
K7 Floor Tray 3mm Polyprop

K7a Floor Tray 3mm Polyprop

K7b Floor Tray 2mm

K7c Floor Tray 2mm

K7d Floor Tray Duct

K8 Bubble c¢/w square and flanged
F9 Nose Cone Wide (white)

F10 Side Pod (white)

F10a Side Pod with Naca Duct (white)
F11 Rear Inner Plates

F12 Rear End Plates

F13 Winglets Aerofoil Type (each)
F15 Twin Aerofoil Wing MK4 S/C
F16 Twin Aerofoil Wing MK5 L/C
F17 Alloy Wing Plates & Spacer Kit
F18 Rear Wing Cradle (Fibreglass)
F20 CIK Plastics complete

F21 CIK Side Pods (Pair)

F22 CIK Nose Cone

F23 Nassau Panel

F25 Front Clamp (Plastic)

F26 CClip

F27 Slide Clip (+ Bobins)

F3 DZUS fasteners

F4 DZUS wire

B13 R-pin small (2.5mm)

B14 R-pin large (3.0mm)

K38 Bubble Bracket (3 reqd.) (each)
K39 Nassua Bracket (3 reqd.) (each)
F5 Heal supports (plastic)

F25a Front Clamp (Alloy)

GEAR

)

K43 Gear Knob

K44 Gear Stick Std. left hand

K44a Gear Stick Std. left hand change over
K44b  Gear Stick I/hand change r/h opp
Kd4c Gear Stick right hand change r/h opp
K47 Gear change - U bracket

K48 Gear Stick Bush - nylon

B15 Gear changeover - butterfly

Formula 1 Kart Manufacturing Co.
Performance Motorsport Ltd.
Unit 27D, Riverside Business Park, Blyth, Northumberland. NE24 5TG
Telephone: 0845 0743353

650.00
785.00
39.95
39.95
34.95
34.95
24.95
49.95
135.00
74.95
115.00
12.95
19.95
13.95
205.00
205.00
70.00
25.00
64.95
27.95
24.95
19.95
4.95
1.00
3.50
2.50
0.50
0.85
1.00
6.95
6.95
9.95
9.95

4.95
29.95
29.95
29.95
29.95
4.95
3.95
14.95



B6

K45
B10
K46
A32

A33
K46a
K46a

K6a
Kéb
Kéc
K6d
Kée
Kef
K34
K34a
K34b
K34c
K35
K36
K37
K37a

KART MANUFACTURING i :/

PERFORMANCE MOTORSPORT LTD.

Alloy Steering Wheel Boss
Steering Upright A Frame

A Frame Bush (Red) (6,12,15mm)
Steering Column

Nylon Bush - steering - single

Nylon Bush - steering - double

Steering Column - collers

Steering Column (Max/Pro)

REAR AXLE

Rear Axle standard - 980x30mm

Rear Axle standard - 1030x30mm

Rear Axle - 980x35mm Heavy duty (250)
Rear Axle - 1030x35mm Heavy Duty (125)
Rear Axle standard - 980x35mm

Rear Axle standard - 1030x35mm

Rear Hub - 30mm

Rear Hub - 35mm

Rear Hub - 30mm Extended

Rear Hub - 35mm Extended

Axle bearing 35mm

Axle bearing 30mm

Quick Release Bearing Carrier - 30mm
Quick Release Bearing Carrier - 35mm

ACCESSORIES

K33
K33a

Al3
Al4
Al5
Al5a
B4
B5
B13
B14

SEATS

F1
Fla
F2
F2a

5 Litre Fuel Tank
8.5 Litre Fuel Tank (all 2000 on)
9.5 Litre Fuel Tank

Small number plate

Large number plate

Digits

Digits - Long Circuit

M8 nylock flanged wheel nut
M10 nylock nut

R-pin small

R-pin large

F1 Seat Layback

F1 Seat Layback (Un-upholstered)
Tillet Seat from
Headrest

Seat Mounting

16.95
39.95
1.50
26.95
3.95

5.95
3.00
26.95

49.95
52.95
56.00
56.00
56.00
56.00
26.95
28.95
34.95
34.95
16.95
14.95
28.95
32.95

26.95
35.00
39.95

0.85
3.95
0.65
0.95
0.35
0.45
0.85
1.00

180.0
140.0
75.00
25.00

B16 Gear changeover - clamp 9.95

B17 Gear changeover - bearings 3.95

B19 Gear changeover - assembly 55.00

B7 Alloy Change Rod 9.95

SPROCKETS & CHAINS

Sprockets

G25 Sprocket Carrier Alloy - all sizes 56.00

G25 Sprocket Carrier Red CNC - 35mm 29.95

G26 Sprocket Carrier Steel - all sizes 46.00

G15 Simplex Split Sprocket 20T - 29T 21.00

G16 Simplex Split Sprocket 30T - 48T 35.00

G17 Duplex Split Sprocket 29T - 40T 24.95

G18 30mm Split Sprocket Carrier - steel 46.00

G19 30mm Split Sprocket Carrier - alloy 56.00

G20 35mm Split Sprocket Carrier - steel 46.00

G21 35mm Split Sprocket Carrier - alloy 56.00

G22 40mm Split Sprocker Carrier - steel 46.00

G23 40mm Split Sprocket Carrier — alloy 56.00

G24 Locking Collar 18.00

Al10 Rotax 257 Sprocket 30 - 38 Dup 25.95

All Rotax 257 Sprocket 20 - 29 Simplex 21.95
Sprockets

G27 428 Racing Chain - per foot 10.00

G28 Simplex Split Link 3.95

BRAKES

K20 Front Brake Disc - drilled - 5mm non vented 39.95

K20a  Front Vented Brake Discs (each) 65.00
Caliper RH/LH (req. spacer kit for vented

K21 disks) 55.00

K21a  Caliper rear (not incl pads) 65.00

K21b  Brake spacer kit (each) 9.95

K21c  Brake spacer 'O' Rings (2 Req.)Rear 1.50

K42 Double Vented Brake Disc Rear 56.00

K31 Brake fitting complete set (Steel) 55.00

K31a  Brake fitting complete set (Alum) 165.00

K32 Brake pipe per 300mm 3.50

G32 Brake Master Cylinder (front and rear) 55.00

G32a  Master cyl overhaul kit 2 sizes 17.95

G32b  Master cylinder seal kit 2 sizes 8.00

G33a  Brake Pads - Soft (Black) 9.95

G33b  Brake Pads - Hard (Grey) Rear 9.95

G33c  Brake Pads - Ferrodo Medium 14.95

A8 Hi-spec Brake Fluid 5.1 250ml 6.95

G36 Caliper seal kit 6.95

Formula 1 Kart Manufacturing Co.
Performance Motorsport Ltd.
Unit 27D, Riverside Business Park, Blyth, Northumberland. NE24 5TG
Telephone: 0845 0743353



KART MANUFACTURING i :/

PERFORMANCE MOTORSPORT LTD.

Kl1la  Front Seat Mount Brackets (complete) 25.00
K11b  Front Seat Bar 12.95
K1lc  Front Clamp 5.95
K10a  Rear seat stay - 2 reqd. (each) 14.95
K10b  Rear Seat Mount (2 reqd.) 14.95
K10c  Rear Clamp (each) 9.95
K10d  Rear Post Straight (each) 8.95
K10e Rear Post Bent (each) 8.95
K10f Rear Seat Ring (each) 6.95
K10g  Plastic Cone 1.00
K10h  Countersunk washer 0.80
K10j Alloy seat washers from 0.85
K11d 2005 Seat Bracket Comp. 29.95
K10k  Rear Mount comp. 39.95
ENGINE ACCESSORIES
A5 Rev Counter from 65.00
100.0
A38 Ignition Control Boxes 0
A39  PVL Ignition systems from 85.00
A40  CR250 back plates 25.00
A41  Engine plates pair from 60.00
A42  Engine adjuster bar (state length) 8.95
A43  Engine Spacer Kit 15.95
A10 Barrel O Ring 250 - Honda (inner) 2.50
A9 Barrel O Ring 250 - Honda (outer) 2.50
A34  Water Pump 35.00
A35  Water Pump - pulley 14.95
A36  Water Pump - clamp 11.95
A37  Water Pump - belts (each) 3.50
A2 Radiator from 95.00
A3 Radiator Mounting Kit 19.95
Al Radiator Mounting Kit - Alloy 29.95
A4 Fuel Pumps from 35.00
A24  In line fuel filters from 1.95
A25  Fuel pipe per 300mm 1.00
A6 Digi Temp Gauge 19.95
Water Header Tank single 90 deg. or
A7 straight. less cap 29.95
A7a  Water Header Tank — cap 4.95
A21  Springs heavy duty exhaust 1.45
A22  Exhaust rubber mount 1.50
A23  Exhaust Cradle 4.50
A26  Airbox CIK 28.00

G37 Master Cylinder - levers (steel)
G35 Alloy Brake Lever - master cylinder
G38 Master Cylinder - top

G39 Diaphragm

G40 45 Deg elbow

G41 90 Deg Elbow

G42 Straight male connector

G43 Banjo caliper type

G44 Banjo master cylinder type

G45 Banjo short bolt

G46 Banjo long bolt

G47 Copper washers

G48 Brass olive

G49 Caliper pistons

G50 Caliper ""O"" rings (big)""

G52 Reservoir Complete

B20 Brake Disc Carrier Red C.N.C - 35mm
G34 2004 Master Cylinder (Complete)
PEDALS & CABLES

Al8 Throttle cable

Al9 Clutch cable

A20 Springs pedal

Al7 Cable adjusters

K22 Throttle pedal

K23 Brake pedal (various configurations)
K23a L H Brake Pedal

K24 Clutch pedal

B3 Cable adjuster tabs

TYRES & RIMS

TM1 Maxxis XP5 - 5" (Set)

TM2 Maxxis WT4S - 5" (Set)

TM4 Maxxis M6 -6" (Set)

TM5 Maxxis W6 - 6" (Set)

K50 Wheel Rims 6" (Set)

K50a Front Rim 6"

K50b Rear Rim 6"

K51 Wheel Rims 5" (Set)

K51a Front Rim 5"

K51b Rear Rim 5"

K52 Tyre valve

Prices subject to change without notice

October 2009

Formula 1 Kart Manufacturing Co.

Performance Motorsport Ltd.

Unit 27D, Riverside Business Park, Blyth, Northumberland. NE24 5TG
Telephone: 0845 0743353

19.95
9.95
4.50
3.95

5.15
4.75
4.95
4.95
4.95
2.50
6.50
0.35
0.65
11.95
2.00
13.95
29.95
220.00

4.95
4.95
1.50
1.00
19.95
25.95
22.95
19.95
1.50

130.00
140.00
135.00
140.00

115.00
31.95
35.00
85.00
23.50

27.00
1.50



